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CALENDAR

1) What will be the day on 15t January 2011 1) Ifg 1 §=adl, 2007 & IFFTR §, & 1 =,
when 1% January 2007 is Sunday? 2011 P! H-T71 7 ghme

A. Monday A. BTHAR

B. Tuesday B. m
CAriday  CAMRAN
— D Tuesday—. D= FER—

@ Sunday E) I ¥aR
) §
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2) The day on 21-02-2001 was Sunday. A 2) 21-02-2001 &1 AAAR 4TI 39 TRIE & S
couple was married on this date. How EI] @1 WIS '§"q‘ 4t 3T 15 a6l & fat
many marriage anniversaries would fall TG Bt ATARRE AR Bt g3

on Sunday in the next 15 years?

a) 1 a) 1

\};{ \b%
c)5 ) 5

d)9 d 9
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3) Which of the following is a leap year? 3) Fafafes d ¥ F9-91 e duad 82

b) 1400 b) 1400
c) 3400 c) 3400
d) 3000 d) 3000




s o s e —————————
CALENDAR

4) The calendar for the year 2007 will be the 4) ad 2007 &7 35'&3'{ P ad & 37337 &

same for the year: HHH B 2
a) 2014 a) 2014
b) 2016 b) 2016

c) 2017 c) 17
018 2018




born in June 2000.

l. It is a date, which is also a perfect
number.
Il. The date next to his birthday is a Prime
number.
a) Only statement | is sufficient to answer
the question
b) Only statement Il is sufficient to answer
the question
c¢) Both the statements are necessary to
wer the question
Both of the statements are not
sufficient to answer the question.
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5) Find out the day on which Ramesh was 5) S, 2000 " 39 feq =+t qdrsg, o fa=

’a’mmmgan T

aqgrmﬂa% ol U

H@r it 2
TS AU

a) gxmmﬁ*ﬁqmmlm
|
b) uum?maﬁtmmmu
g 2|
) U¥ & IW ¢4 & faw I Y+

m;ammﬁtmm
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